
5.21       1)   

 

 
 

           
πολλαπλασιάζουμε με g x 0

f x 1 f x g x 1 g x f x g x g x


         

 

       f x g x f x f x    

και επειδή   
ox x

lim g x 0 0


     και   
ox x

lim g x 0


  από το κριτήριο 

παρεμβολής έχουμε ότι    
ox x

lim f x g x 0


     

5.21       2)   

 

 
 

           
πολλαπλασιάζουμε με g x 0

f x 4 f x g x 4 g x f x g x 4 g x


          

 

       4 g x g x f x 4 g x      

και επειδή   
ox x

lim 4 g x 4 0 0


       και   
ox x

lim 4 g x 0


   από το κριτήριο 

παρεμβολής έχουμε ότι    
ox x

lim f x g x 0


     

 


